MA 162 EXAM 2 Form A Fall 2010
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1. BEwvaluate / cos® zsin? z dx.
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2. Evaluate /0 tanx sec” T dx
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3. When one makes a suitable trigonometric substitution to evaluate
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4. Evaluate ; T dzr
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0 dx
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6. Find the correct form of the partial fractlon decomposition of
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1 dx
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7. Evaluate /
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9. Which of the following improper integrals converge.

2?2 +1 Tl >
1 2 — 3 ~% cos” z da.
()/ Tl dx, ()/1$3dx, ()/1 e " cos® xdx

A. (1) and (2) converge. (3) diverges.

(1) and (3) converge. (2) diverges.

C. (2) and (3) converge. (1) diverges.
D. (1) converges. (2) and (3) diverge.

E. (1), (2) and (3) converge.

10. Find the arclengh of the curve
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11. Which integral gives the surface area of the surface obtained by rotating the curve
y =1+ 222, 0<z<1,

about the y—axis.
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12. The substitution u = +/1 4z transforms the integral
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